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Sentence Fragments

Sentence fragments are grammatically incomplete sentences. While fragments are often found

Page 1 of 6



Conclusion: The test sentence is complete and makes sense. Therefore “the dog is large” is
not a sentence fragment.

Example 2:
Suspected Fragment: | like.
Test: Itis true that | like.

Conclusion: The test sentence is not complete and seems to be missing information (in this
case it is not clear what | like). Therefore “I like” is a sentence fragment.

Challenge

Try to find the six fragments in the following passage. If you’re not sure whether or not a
sentence is fragmentary, use the strategy above to test for fragments.

Challenge passage:

A recent cyanide spill in Romania has drawn worldwide attention. The January 30, 2000,
incident occurred when a dam at a gold mine broke and released 100,000 cubic metres of toxic
sludge into the Szamos River, which flows into Hungary’s Tisza River. The scale of the resulting
ecological disaster was vast. Killing virtually all aquatic life in a 400-metre stretch of the Tisza
River. Which is home to 19 of the 29 species of protected fish in Hungary (WWF, 2000b).
Besides killing over 100 tonnes of fish, the spill also endangered seabirds and other wildlife and
affected drinking water supplies for cities along the affected waterways (WWF, 2000b). The
most serious cyanide spill ever (WWF, 2000a). Although there have been other serious spills

recorded.

This unprecedented case of freshwater pollution has also focused public attention on a
number of other issues: inadequate environmental monitoring and response measures in many
countries in Eastern Europe. Secondly, problems in enforcing international agreements related
to trans-border pollution (WWF, 2000a). And, finally, woefully inadequate penalties for
corporate polluters. According to one report, the company responsible for the January 30 spill

was fined only $166 US (WWF, 2000a).

Page 2 of 6









In the example above, the
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In the example above, “budget cutbacks being one reason” is a fragment because the participle
“being” cannot act as the main verb of a sentence” Here is a possible correction for this
sentence.

Corrected sentence:
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